=
S
=
S

o(® ¢ (rad)
a(d cot(0))

-4 AR
o10m4mT : o1over T
- r - L
g F L4 g I }
o LOSEL ] ST 11T o L 1
: AL 3 1§ AR
: 1l : il 14 T
7 O S EN R A r
1+ Cledband 1 | 5

107 1

=
o
iN

2 3
1 TPlpg)T (PCA t%obeamlinélf)

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

- -
IS c T S S T
(8] (]
e ) T T TUTUT FUT T
=~ =
;‘ UN
o O
o o
5 5

1072

| I | i | | IR EEEETAETIT B N L ST BT
_g’lﬂvu_ S RES ST 1 _g'lﬂvv_ T T
© H o 5 | © N + T
x 1B + === 1515 5 B 6 0 A ARRRRREREEE x [
H 0l 0 i - (0 ¥ U8 6

,
A
B

.

-
—
A

-

s

==l

A

T

"
-

n
=3
R

2

A

) g

-

0.95

[any
o
I8

-1 2 3
10 1 1 TP]'[S)T (PCA 1 beamlindf’

: 2 3
D (Pca t®beamindf



	Contents
	Page 1


